RERE(\EBIL—k)

BEEREXVESRE J\BIL—F)
[FrZzlz&]

NRZ B AV L TH&1 | F&2 [ T&3
I\RER 7:25 ERE X EER 15:30 [ 16:30 | 18:20
RA/NER 7:29 1/ =3 —=2] 15:49 | 16:49 [ 18:39
T B ERAI 7:34 LtHE 15:50 | 16:50 | 18:40
Ei = LEkEO 7:39 T H 15:51 [ 16:51 | 18:41
PR 7:41 275 15:52 [ 16:52 | 18:42
FTen 7:42 1R 2 BRAT 15:55 [ 16:55 | 18:45
whRERILEE 2 — 7:43 BE 15:56 | 16:56 | 18:46
EEIEE 7:44 B E{L 0 15:57 | 16:57 | 18:47
HEE1XAT 7:45 EE1XAI 15:58 | 16:58 | 18:48
B E{L 0 7:46 ARt 15:59 | 16:59 | 18:49
EE 7:48 imh ARt 2 —]) 16:00 | 17:00 | 18:50
= 2 ER AT 7:48 TEn 16:01 [ 17:01 | 18:51
BTE 7:51 PR 16:02 | 17:02 | 18:52
T H 7:52 Ei = LEkEO 16:04 | 17:04 | 18:54
tAEE 7:53 T B BRA( 16:09 | 17:09 | 18:59
A/ R—=2 3 08—=% 7:54 RANER 16:14 | 17:14 | 19:04
EER Xt EERR 8:16 J\EER 16:19 | 17:24 | 19:09




